PROFESSIONAL EXAMINATION BOARD

Police Recruitment Test : 2016
7th September 2016, 02:00 PM
Topic:- Chemistry

1)
Question Stimulus :-

Naphthalene contains 93.71% carbon and 6.29% hydrogen. If its molar mass is
128 g mole~1, then its molecular formula will be - / AfRIHT & 93.71% H1d 3R

6.20% BISSIe 2, Uit HIe’ SH 128 mole™ § &t SUST VR BN
¢ CgHg
* CyoHsg
* CioHio
* CeHg
Correct Answer :-C;gHg
2)

Question Stimulus :-

Which of the following contains highest number of atoms? / frafafaa 7 9 o4
Haffire TRHTY] HST aTel 8?2

e 1.0 g of water/ 1.0 g Ul

e 1.0 gofsilver/ 1.0g ReR

e 1.0 g of nitrogen/ 1.0 g T-I'I's',@TrF-I

e 1.0 g of propane/ 1.0 g CILE|
Correct Answer :-1.0 g of propane/ 1.0 g mua
3)
Question Stimulus :-

When the temperature of an ideal gas is increased from 27°C to g"LDC, the kinetic

energy will be - / Tfe {3t amexl A9 &1 91" 27°c &/ °4' ¢ gern 9, df TP Tfas St -



Same/ W?%Tﬂ

Four times/ ?ﬁ'{'ﬁﬁﬁ'ﬂ
Twice/ GR[HT 8111

No effect/ P13 UHTG T8l B

Correct Answer :-Four times/ T—-ﬁ'ﬂ'rﬁ @Tﬁ

4)
Question Stimulus :-

Magnetic quantum number for the valence electron sodium is - / qifeaq &

TUISTHdT B & FAGE DI BT FdicH T=T 8-
e 0
e 1
)
« 7
Correct Answer :-0
5)
Question Stimulus :-

The correct order of radiiis - / Par &1 '\‘lﬁ W%—
e N<Be<B
¢ FF<0%<N3-
* Na<lLi<k
« Fe3*<Fe2*<Fe4t
Correct Answer :-F"<02-<N3"

6)
Question Stimulus :-

Which of the followina has laraest size?/ A=ffEd & ¥ I8 TE7 TSR fHT 7122



o Al
e« Alt

A|2+

° A|3+
Correct Answer :-Al

7)
Question Stimulus :-

A New carbon-carbon bond formation is possible in- / T BIET-HIE a8 BT 7
|qYq g -

Cannizzaro reaction /&R fHfsrar &
Friedel craft reaction/ flhsd@ ®w1ue 3ifHfwar
Clemmensen reaction/ FaH- SrfHfhar |
All the above/ JURITT THI

Correct Answer :-Friedel craft reaction/ e wrue sifufsrar

8)
Question Stimulus :-
Among the following the strongest acid is- /AT & usd 3 8-

HC = CH

.
* CgHeg
* C,Hg
e CH3OH

Correct Answer :-CH3O0H

9)

Question Stimulus :-



Toluene reacts with chlorine in the Presence of light to give- / TSI B IufAfd A
W9 eTqs @1 Sfufshar Faie | HR1s Sl @ ol I gidT 8-

e Benzyl chloride/ aﬁﬂsﬂm

« Benzoyl chloride/ SSlisd FIRISS
e p-chlorotoluene/ p-ﬁ?ﬁﬁaﬁﬁ?

e o-chlorotoluene/ o-ﬂ%ﬁﬁaﬂ'é:f
Correct Answer :-Benzyl chloride/ aTrI'Is?f TRﬁTIST&'

10)
Question Stimulus :-

Which of the following is a coloured gas - / fA=fefEd & ¥ 9 79 2-
* N,O
* NO
* N,O4
e NO,
Correct Answer :-NO,

11)
Question Stimulus :-

Aqua regia is a mixture of - / Taar Siforr fFrgor 8-
« HNO3 and H,SO,4 / HNO3 3R H>S0,4
« HCl and H>SO,4 / HCI 3R H>SO,4
« HNO3 and CH3COOH / HNO3 3R CH3COOH
« HCl and HNO3 / HCI 3R HNO;
Correct Answer :-HCl and HNO3 / HCI 3fik HNO;

12)



Question Stimulus :-

The alkaline Potassium Permanganate solution is known as- / &R e fRrw
REHE faeaeT sgard &-

 Molish reagent/ Hifa=r fieHe

* Baeyer’s reagent/ IR AfHFHP

« Fehling’s solution/ WgfiT faea=

 Benedict’s solution/ dff$ae faaa=
Correct Answer :-Baeyer’s reagent/ IR fFH®

13)

Question Stimulus :-

If a neutral solution has pKw = 13.66 at 50°C then pH of the solution is- / 0°c W
IerRiA fae= &1 pkw = 13.66 © ot 39 faea= &1 pH 81 -

* 6.63

e 7

7.63

None of these/ 98 & ®Is gl

Correct Answer :-6.63

14)
Question Stimulus :-

The shape of ClO4 is- / ClO4” &I TFR &-
Square Planer/ T HTAT

Square Pyramidal/ o fRifrdia
Tetrahedral/ IqohADT

Trigonal Bipyramidal/ ﬁﬂﬁﬂﬂw

Correct Answer :-Tetrahedral/ TG ADIY



15)

Question Stimulus :-

For the reaction: H2 t12 = 20l 8 gqq AU e related as - / P2 712 = 2HL gfAiforar & forg

AH iy AU § Hay gITI-
o AH S AU
o AH o AU
o AH — AU

Can't say / &g gl 9dd

Correct Answer -AH = AU

16)
Question Stimulus :-

%)f the following the strongest Bronsted base is - / Frfafea o 9 yead s=Ics &R

Cl0~
Cl07
Clo;
Clo;

Correct Answer :-°10~

17)

Question Stimulus :-

If sulphuric acid solution has P = % then its molarity is - / ¢ IS 3= faaa
&1 P =2 ¢ 9 Sue Hieran gift-

e 1/100
e 1/50
e 1/2



Correct Answer :-1/200

18)

Question Stimulus :-
Oxidation number of P in P ion is - / PO:” g & P &Y sifafieur T -
e -3
e +7
e +5
° +3
Correct Answer :-+5

19)
Question Stimulus :-

Surface tension of Lyophillic colloids are- / &d LS| Hﬁ?l'l':-'ﬁ BT Yt d-1d giar %—
« less than water/ 9@ § &H
e greater than water/ oid ¥ 3fftd
 equals to water/ 9Id & dca
* None of these/ gﬂ'ﬁ I ?5'1'5' ol
Correct Answer :-less than water/ Sid q HH

20)

Question Stimulus :-

Galvanising is a process of - / Tiea-1®=uT ufsrar g-
Coating of Zn on Fe/ Fe TR Zn & AU &1

Coating of Al on Fe/ Fe W Al & @U+ &I

Coating of Fe on Zn/ Zn MR Fe & AU Bt

Coating of Cu on Fe/ Fe T¥ Cu & @Uq I



Correct Answer :-Coating of Zn on Fe/ Fe IR Zn & AU Bt

21)
Question Stimulus :-

Chemical formula of meta phosphoric acid is - / el BRWIR® 3 HI IEAE JA

o Ha2PO:
HPO,
Hq PO,
Hy PO

Correct Answer :-Hp'DS

22)

Question Stimulus :-

During formation of chlorine from ¢ M0z \yorks as - / HYQ gai¥i| g99 yv Mno:

S BT B-

« Reducing agent/3UITIP PI

e Oxidizing agent/ STRITPRS BT

o Catalyst/ IAID BT

e Dehydrating agent/ fefdierR® @1
Correct Answer :-Oxidizing agent/ AHTFIHRD BT

23)

Question Stimulus :-

Hybridization in %0 ion is - 7 %9:" & Wa&vur giar -
o Spid®
e Spid

o SPB dS



o dSp*

3
Correct Answer :->P 4

24)
Question Stimulus :-

On heating ammonium dichromate the gas released is - / H =T giiﬁ'ﬁ?_’ Cakie]
HI W Yo g arelt T 3-

Oxygen/ 3fTaISH

Ammonia/ e

Nitrous oxide/ TS¢d TGS
Nitrogen/ T-IE@\?F-I

Correct Answer :-Nitrogen/ H‘I‘s‘@’lﬁq

25)
Question Stimulus :-

Mostly Transition elements are- / HHHUT YU AfUHILIG: Sl 8-
« Diamagnetic/ UfdgmE®T
e Paramagnetic/ @I
e Both the above/ SR Eﬁﬁ
« None of these/ §TH 4 ®I3 8!

Correct Answer :-Paramagnetic/ Gﬂﬂﬁﬁﬁﬂ

26)
Question Stimulus :-
Strongest Ligand is - / UdadH feRivs @8-

CN™



[} P_

Correct Answer :-°N~

27)
Question Stimulus :-

In which types of rea!ction the Zigler Natta catalyst is used - / foTFeR-ATEl SIRPH
fa yer @t arfifear & wge gir 8-

e Hydrogenation/ gissieriau
» Polymerization/ sgdi®ur
e Oxidation/ sii&fi®zor
¢ Reduction/ 3=+
Correct Answer :-Polymerization/ ggat®ol

28)

Question Stimulus :-

Gives white precipitate with Silver Nitrate - / RITaR A13de & 1Y Aheg AT T 8-

CCl,

CHCl;

[
o CH, = CHC
. (CHz);Cc—al

Correct Answer :-(CHa):€ = Cl

29)

Question Stimulus :-

What will be obtained when phenol is distilled with %" powder- / S/§ BIFld &I 2"
ol & |TY i faT SIran § o e giem -

CsHgCHO

C4HCOOH



CHsCH;

CeHe

Correct Answer :-C'SH'6

30)

Question Stimulus :-

CH CH, CH, - CH
8 d . Pd
"'\...,&.\‘\ y. y \\\\.\ //.f

The product formed when 0 react with RMgX is- / o 3|
RMgX & 914 AfUfHar @ R IS UT gl 8-

. RCHOHR

. RCHOHCH,

R,CHCH,OH

« RCH,CH,OH

Correct Answer :-RCHzCH;OH

31)

Question Stimulus :-

Compound that gives cannizzaro’s reaction is - / dg Qe o) ST sifdferar -

benzaldehyde/ dS{csgIss

acetaldehyde/ BRICTSEISS
bromobenzene/ EICICEIR]

propanal/ PIFE ]

Correct Answer :-benzaldehyde/ aﬁ%?l%_{{

32)
Question Stimulus :-

The Equivalent weight of potassium dichromate in acidic solution is- / TR

SIEHIAT BT IRy faad § qedie YR § -



e 49

e 908

e 24.5

° 204
Correct Answer :-49
33)

Question Stimulus :-

Cheglical name of semipermeable membrane is - / JSKURITH 3ol 1 IO
«TH &~

« Copper ferrocyanide/ $1UR BIRIIAES

« Copper ferricyanide/ $1UR BIIAAATSS

e Copper Sulphate/ PITR Gbe

 Potassium ferrocyanide/ TeRraH ﬁ?a'\‘l'l'q:l'lgg
Correct Answer :-Copper ferrocyanide/ PR ﬂﬂﬁm

Topic:- Physics
1)
Question Stimulus :-

Rainbow will be formed, if sun is on following angle less then above the horizontal- /

TEYU A1 8, AR ARV F SR WA ST A sa R &

=]

e 20

=}

e 30

=]

e 40

° 60
Correct Answer :-40°
2)

Ouestion Stimulus -



For a healthy eyes the resolving power limit will be - / WX = @1 faveT JFAT T %—

. o)
Correct Answer :-I’
3)
Question Stimulus :-

If the diameter of an object lens is 0.1 m and wavelength of light is 6000 :'“D,
then its resolving power will be - / T® gIcxil & ITUEIS BT AR 0.1 Hiex TUT UHT

&1 e 6000 * 8, df 3HD! FANGT &rHdT TIHIT BN~
o 6x 1075 Radian ; 6 x 1075 {57
o 6% 107% Radian / 6 x 1075 X{5aH
o 6x107% Radian 6 x 10~2 Xf5
o 7.32x107¢ Radian ; 7.32 x 1078 Y574
Correct Answer :-7-32 X 1076 Radian ; 7.32 X 1078 {3+
4)

Question Stimulus :-

If we move from surface to centre of a charged metal sphere the electric field will be -

/ T % AR T F Ioo A P B 3R oM W fAgua-a=1-
e increased/ 9gal &
* decreased/¥edl §
e same as surface/ Y5 & JHTT IgdT §
* zero at each point/ TA® fdg W I IgaT @

Correct Answer :-zero at each point/ Td® fig W X ¥gd1 @



Question Stimulus :-

Cathode rays are - / FUS ﬁb_{ef%'-
* Electro magnetic waves/ﬁ:‘@?ﬁ YaDIg a3
e Flow of changed particles/ 3TAfR1d HUN &1 Yarg
* Flow of high energetic electrons /<TgaTH 3ﬁa§‘|'=|‘r Pl Ydle
* Flow of Neutron/<IgI- @1 UaIg

Correct Answer :-Flow of high energetic electrons /ISRl sdaEi-l &1 UaTE

6)
Question Stimulus :-

Transistor is make from- / grﬁ‘:lw T 9T 8-
e Conductors/ EIGEK:]
® Insulators/ ﬁ'g‘,‘qﬁ JAd 9
* Doped semiconductor/ SiTua fsara®! o
* Mixed Material/ arq%n'g;@f
Correct Answer :-Doped semiconductor/ Sifud garad! I
7)
Question Stimulus :-

Which waves are used in transmission - / gTHIR & BT 9T W &-
e Ultra violet/ WIS
e Infrared rays/ 3d¥cd
* Short waves/ ﬁ&-ﬂ?ﬁiﬁ
e Visible light/ T DI
Correct Answer :-Short waves/ &3
8)

Question Stimulus :-



Which of the following dipole has maximum potential energy? / = @ foea %ﬂﬁaﬁ
Rfasr et sifyway grit?

—k
I

—_
| F—

it q

—r
«—F

Correct Answer - +y

9)
Question Stimulus :-

125 same small drops are charged with 50 volt potential each. If the-y.formed_one big
drop after mixing them, the potential of new big drop is - / WW@%W 9T 125
2, U@ P 50 dice fava | maflm fwar orar 31 39 58 siie®x g+t T4t §g &7 favg ghm-

e 50V
e 250V
e 500V
e 1250V
Correct Answer :-1250 V

10)
Question Stimulus :-

Kirchoff firsts and second law shows the conservation respectively - / fpware & uud 3R
fachta o o= =eor g=ifa 8-

¢ Linear and angular momentum /W T 3R HIvftg G FT



e Charge and Energy/ 3a%T 3R Suit &1

* Momentum and Energy/ T 3R Fell BT

e Momentum and linear momentum/ 3T 3R ¥ AT BT
Correct Answer :-Charge and Energy/ 39 3R 6l $T
11)

Question Stimulus :-

If I current flows in a circular loop of radius ‘r’ then magnetic dipole moment in

equivalant to it, is - / T& Ji1T qU St 5597 r 8 ST I URT Ya1ed & T8l 8, S g gadbig
feya 1 smyvf gm-

Ir

Correct Answer :-"""

12)
Question Stimulus :-

The additional pressure in liquid drop is - / 59 &1 §g # sifafe ara giar 8-

2T
Correct Answer :- &

13)



Question Stimulus :-

At 27°C the volume of a gas is V and pressure is P. After heating it the pressure
and volume increase two and three times respectively. What is the resultant

temperature of gas.- / 27DCWW%WWVGﬁTE{WP%I sﬁmmfﬁlﬂ%
oY 39T 919 ST Td SMaa i A1 8 9irat 81 {9 &1 ufvumdt arg gim-

152°C
600°C
324°C
1527°C

Correct Answer :-1527DC

14)
Question Stimulus :-

If the hot body temperature increase by 50% then the value of emitted radiation

increased with - / If¢ T T 9¥g & 10 A 50% gi FX <t 914 1 IAP SAfora fAfpRor B AT
T g U Bt -

* 12.5%

* 200%

* 300%

* 400%
Correct Answer :-400%
15)

Question Stimulus :-

The required pressure ratio in adiabatic change_and isothermal change to reduce
similar volume of a gas is - / {5l 19 & muds & I FH F[ & A TIow gY1 FHATdg
fafltr o srma=a® /@ &1 SuTd g m-

o ¥

o 1/Y

o ¥—1



« 1/ h
Correct Answer :-¥
16)
Question Stimulus :-

If a = -bx is a particle motion equation where a is acceleration, * is
displacement and b js constant then oscillation time period of particle is- / T®H

gﬁwﬁmwﬁmﬂ—bx g SI8T a v, * fa=uTu= qut P fAadie g1 &1 &1 Siad &1d

TN
o Z2NT/D

27 /b

o 21/\b

o 2mVD

Correct Answer ;-27/V?

17)
Question Stimulus :-

In total internal reflection the value of critical angle will be maximum when light

passes through - / ot 3ffa¥® WRrad= & fe@d wifae H1vr ety s wafe fewor st &-
* From Glass to air/®¥ & gal #
¢ From Diamond to air/g¥ ¥ gaT &
e From Glass to water/ &g 4 Ut A
* From water to air/Urt d ga1 #

Correct Answer :-From Glass to water/ &9 4 U<l &

18)
Question Stimulus :-

Circular Motion is - / g«itg 7Ifd gl 8-
e One dimensional / & fadig



e Two Dimensional/ fgfada
e Three Dimensional/ Ffeda

®* None of these/%‘rﬂ?{' T ?ﬁé qé’[

Correct Answer :-Two Dimensional/ fgfasa

19)
Question Stimulus :-

Light year is a unit of - / UPT a9 HIHS 8-
* Distance/ g3l &I
* Time/ JHY &BI
e Light Energy/ U&TRI il &I
* Mass/ SHHTT Bl
Correct Answer :-Distance/ g1 &7

20)
Question Stimulus :-

If 2 Amp current flows in a coil of 50 mH then storage energy in joule will be- / 50 mH

I TP pUSHl § 2 TRRR it YRT yaIed 89 W 9 & |@fiia St gihi-
e 1
e 0.1
e 0.05
e 0.5
Correct Answer :-0.1
21)
Question Stimulus :-

A concave mirror which focal length is 7, If an object of length 6 cm put away at

principal axis on 4f, then the length of its image will be- / uﬁwgﬁf %t{ﬁ Sddd
SUUT & RS e TR 4f DI g3l TR 6 AN Tt 9% I 81 39 ufafdy @ &S § -



e 4cm/ 4 I

e 12 cm/ 12 JHl

e 18 cm/18 ¥t
Correct Answer :-2 cm/ 2 94t
22)

Question Stimulus :-

As well as the speed of fan increase same time current value will be- / SOY-SU) U P

I geelt 3, -l UIRT-

* increase/ 9gdl @

¢ decrease/ Ucdl @

® remains constant/ agt Tgdt ?

* increase, upto maximum speed/ 3fY® gidt %, Ird & AfUPaH 81 I
Correct Answer :-decrease/ Ucdl @

23)

Question Stimulus :-
The resistance of ideal voltmeter is - / 3Texf AieeHlex BT ufaRIe iar 8-
® Zero/ [
®* Very less /arﬁrag
e Very high/ 3ifd 98¢
e Infinite/ A=
Correct Answer :-Infinite/ 3=
24)

Question Stimulus :-

If only 2% of main current flows in a galvano meter (with G resistance) then the value

of shunt resistance will be - / af¢ G UfeRIY & YRTATH & GBI URT B Had 2% YRT yared
HIAT B Al ur=d UfoRTY 1 91 gh-



e G/49
* 50G
* 49G
Correct Answer :-G/49
25)
Question Stimulus :-
Colour of light may be find by- / U&T=I ST 37 JTd fHaT S14T B~
e Velocity /3T d
e Amplitude/ 3MaTH I
e Frequencey/ Mg d
e Polarisation/ydiorur &} fRAfq I
Correct Answer :-Frequencey/ 3gf\ 9
26)
Question Stimulus :-

Mass of photon in motion- / Tt axAT H Wier 31 W‘H%—

b

[ ] Cg'

e hV

® Zero/ A

hw
Correct Answer :-¢*

27)
Question Stimulus :-

Which of the following in not electro magnetic wave - / frafafea # Q@ s @ ﬁg‘lﬁ
YIPIT T e &-



o Y 1/Y— fHIuf

* x-ray/ x- foezo

e Sound waves/ af a3

® Radio waves/ el a3
Correct Answer :-Sound waves/ @< a3
28)

Question Stimulus :-

Spectrometer is mainly used to measure - / @@Tﬂﬁ DI BT U 9 59 U199 § ST
fopan e 2-

° Wavelenth/?R"ﬂ%ﬂf

e Intensity/ diaar

* Polarization/Ydul

. Scattering/ﬁ'cl?ﬁ
Correct Answer :-Wavelenth /3¢
29)
Question Stimulus :-

A prism has an angle of50 and for red and violet colour its refraction are 1.5 and 1.6

respectively. Angular dispersion of prism is - / T® e &1 PoT SD%I dre 3R S T P o
SUaci® HURN: 1.5 3R 1.6 g1 FUsH gRT 3= Hivity faaqor 8-

7.75°

o
o}

e 5

e 0.5
e 0.17

Correct Answer :-0.5o

30)

Nisnckinam Crinarntloras o



Doppler Effect concern with - / SR UHTd Jafd &-
* Frequency/ GI'I?:[R-I
e Reflection/ T
e Intensity/ Udddl
* None of these/ 37{3[ I $I'§' Tt

Correct Answer :-Frequency/ 31gfi

31)
Question Stimulus :-

The momentum of heaviour object A is equal to lighter object B, then - / T YT fivs A
TUT GRR P UUS B & WA 9HH g al-

* Velocity of B is less than A / B &I AT A Y FH ﬁTIT
® Velocity of B is greater than A/ B &I o A 9 3iftres g
e Both have same velocity/ @ & a7 94 gl
* Nothing to say/ W-‘-Iﬁib?'l SIT Hehdl
Correct Answer :-Velocity of B is greater than A/ B &I AT A 3ff® g

32)
Question Stimulus :-

The orbital speed of a satellite revolve very near to earth surface is - / E[%'cﬁ ¥ offad iy
UfsH AT B I IUE Pt Hefta a1 Bt -

o OV 2gR
e V=2gR
« V5 \"ﬁ
e V=2R

Correct Answer :-" =~ V&R

33)



Question Stimulus :-

Our sky looks like blue at the time of sunrise and sunset because in this position the

_:ﬁc_:_lrt%ering will be - / Jaiea 3R AR & THT MG e fe@mg dar 8, wife 30 fRufa & ywiv

¢ Minimum /<J1dH

° Maximum/ﬂﬁlﬁﬂ

* Non regular/\?dﬁ'qﬁl'd

e None of these/ S8 ¥ ®I5 gl

Correct Answer :-Minimum /<-1dH

Topic:- Maths
1)
Question Stimulus :-

3+2i
3—2i

Correct Answer :-1
2)
Question Stimulus :-

If 2x+83x+1 ape jn A.P. Then the value of * will be - 7 afg 2%**8 3+ 1 gurgz goft
¥ g, 99 * T 9 gI-

e 3

e 7



Correct Answer :-5

3)
Question Stimulus :-

Two numbers differ by 3 and their product is 504. The numbers are- / & JAT3I HT 3iaR 3 TUT
IPT UFEE 504 8, T YBATT -

e 18, 21

e 19,22

e 20,23

® 21,24
Correct Answer :-21, 24
4)
Question Stimulus :-

If 12p. =1320 then "=’ / afd 12p . =1320, a9 "=’

Correct Answer :-3
5)
Question Stimulus :-

y=1+=+>+Z 4.0 x =7 y=1+Z4+24+%+ 00 < =7
T2 ET T then =7/ afy v T qgx =

If

o l0Z.¥



Correct Answer ;-°2¢¥

6)

Question Stimulus :-

1.0 0 1 0 0
A=0 1 0] ) A=|0 1 0| .
If Llab -1 then® =" /39fg la b -1l gg& =?

* Unit Matrix/ S®T3 3TaIg

* Null Matrix/ X[ 3{Tgg

e A

e A
Correct Answer :-Unit Matrix/ S®TS 358
7)

Question Stimulus :-

If sin 8+ cos8 = 1,thensin 8 cos8 =7 / -q-%sin8+cose='l,aasinecosﬁ=?

e 1/2

Correct Answer :-0

8)

Question Stimulus :-

In AABC, ifa= 33b=4c=5 then sin 2B =?/ q-%L\ABC, ﬁ- a=3b=4c=5 aa-sinZB =7
e 4/5
e 3/20
e 24/25



Correct Answer :-24/25

9)
Question Stimulus :-

1 1

= sin"1x,

w |

1
* _1— : -
sin- = + sin v =7

| by

— <=l -1l -
=3gin" Y v —7 sin” ~—-+sin
If then *=’ / 9fe 3

LS|

\n"T5-+ 4"\-"5
Correct Answer :- 9
10)
Question Stimulus :-

If three points (p+1, 1), (2p+1, 3) and (2p+2, 2p) are collinear, then p=?/ gfe
i+ fdg (p+1, 1), (2p+1, 3) 3R (2p+2, 2p) IR §, 99 p=?

Correct Answer :-2

11)

Question Stimulus :-

A line passes through the point ‘>2 and is perpendicular to the line 7 7=3 jts

y-intercept is - / T WX 3@ foig @ 2 & ot & qur ¥@r 1V =3 & wrad §, s"er y
— 3[:US T 82

® 1/3



* 23

* 4/3
Correct Answer :-4/3
12)

Question Stimulus :-

Centre of circle &~ ¥)&—x) +—y)ly-y) =045, gl
x-x)Ex-x)+GF-y)G—-y)=0 BT I %_

(Xi +¥y1 %+ Yz)
2 72

(Xi ; bE! , Xz ; }"2,)

(Xi +X 1t }’3)
a v 2 7 2

(Ki ;\: , ¥1 ; }"2,)

(Ki +X ¥yt }’z)
Correct Answer :-* 2 2

13)

Question Stimulus :-

The length of latusrectum of the ellipse 9% +dy?=1g . / <rdga P +dyi=1
RIS PGS ©-

e 3/2
° 83
° 4/9
* 89

Correct Answer :-4/9

14)



%BY are the angles which a line makes with positive direction of coordinate
axes, then S & 4 sin° B+ sin"y =7/ gy & bY ot wvar Y1 gR1 Fdwna & e fo=m &
TR TR BT Bf a9 sin” @ 4 sin® B+ sin® y =7

e 2

e 3
e 0
Correct Answer :-2

15)

Question Stimulus :-

3 U2 =1

s /WRa¥ET 8 1" o -

¢ parallel to x-axis/ x-3{&l P FHTHETIR

1

The straight line 3 1t ©

x-3 -2 =

e parallel to y-axis/ y-3{& & FHTATR
e parallel to z-axis/ z-3{& & AR
e perpendicular to z-axis/ z-3& & [SECEGH
Correct Answer :-perpendicular to z-axis/ z-31& & Twaq

16)

Question Stimulus :-

If the planes * T &1 ¥2=0 gngq 2+ ¥~ 22=0 _ 5re at right angles, then the value of

kis/ e quaa <t ¥+ K=0ggx+y- 22=0 _ qraRg qvadq g, A9 k ST & -
® -1/2
° 12
° 2
. 2

Correct Answer :-2



Question Stimulus :-

FD2+ @G P2+ (RE) =2

* None of these/ 37-1'3[ I ﬁ'{f’ &l

A

Correct Answer :-

18)
Question Stimulus :-

G-B) x (3 +B) =7

Hax b)

axh

2_p2
e 2°—h

None of these/ ETI'I?[ T Eﬁé ?a

Correct Answer :-2(3% b)

19)
Question Stimulus :-

L(xk)+5(kxi) +k{ixD=?

Correct Answer :-3

2N\



Question Stimulus :-

wromnl A =] 2

° [ﬂ:k)] 2

o [fGOP

2f(x)

a 3f(x}

Correct Answer :-21%)

21)

Question Stimulus :-

d
3 log (logx)] =7

o (xlogx)™?

® None of these/ sT-lﬁ 3 ?ﬁﬁ qﬁ

» =1
Correct Answer ;-x108%)

22)
Question Stimulus :-

7

dy _ . . dr _
If ¥ = sin {2sin~1x), then 3= =? / 'ﬂﬁ y = sin (2sin~1x), qq ax

2 — 4t

o V1—x*

2 + dx?

° \"Ij. = X3




Correct Answer ;-v1—x?
23)
Question Stimulus :-

. . r— DB _ 92 T
The minimum value of the function ¥ =2%¥" — 21x"+ 36x— 20 45 _ / e
¥ = 2x% — 21x% + 36x— 20 a,’—rnl:l—d-q-:":r%_

* -128
* -126
* -120

* None of these/ 371'3[ I aﬁ'a; )

Correct Answer :--128

24)
Question Stimulus :-

I L gx =7

=zl og)2

logx

loglogx +¢

—loglogx +¢c

1
logx

Correct Answer :-

+c

25)

Question Stimulus :-

[tan 1xdx =?



Correct Answer :-

26)

1 a
xtan"lx + 2 log{1+x*)+c

1 .
xtan"lx — 5 log{1+x*)+c

(x— Dtan"x+ ¢

xtan"lx—log{1+x¥)+c

1 ”
xtan"lx— Elog (1+x)+c

Question Stimulus :-

J‘ dx _

x+2
x+1

log +c

log{x+1)+log{x+2)+¢c

1 x+1
Bx+rz2
None ofthese@?ﬁﬁﬁgﬂﬁ

x+1

log +c

Correct Answer :- xt2

27)

Question Stimulus :-

(=] =]

|

y'sinx + 4/cosx

scosx
dx =7

0

e A

= 3

None of thece/ 90 & &Is T8T



TT

Correct Answer :-%

28)
Question Stimulus :-

+3ﬂ, =X,

3y =
Solution of * -/ + y=*

" &1 59 &-

]

1§3'+k—+c—0
X7y 2 =

x3'—x—+c
° }_4-
x4
xdy+— =10
° *Y 4

® None of these/ s‘rﬁ 3 aﬁé T-l?f

3 x*
Xy=—+c¢

Correct Answer :-

29)

Question Stimulus :-

o
of?

= 11+(=
The order and degree of the differential equation < \; (d-") are / S[dodAd
1 +
PN R e —

¢ 4,2

Correct Answer :-2,2

30)
Question Stimulus :-

Two dice are thrown simultaneously. The probability of getting the sum 2or8or12is- / al

UTE] B TP ATY b ST= TR INT 2 IT 8 IT 12 UTed A DI UIyepd] &-



e 5/18

* 7/36

e 7/18

e 5/36
Correct Answer :-7/36
31)

Question Stimulus :-

A coin tossed 4 times. The probability of getting atleast one headis - / wﬁﬁm 449dR
IBTAT SITdT 8, PH A $H TH IR Y e H34 &) wifedn 8-

e 1/16
e 2/16
e 14/16
e 15/16
Correct Answer :-15/16

32)

Question Stimulus :-

If coefficient of correlation between the variables * and ¥ is zero, then - / gfe =R\

* 3 ¥ & e wewwy U I 3, 79 -
* and ¥ have no relation/* 3R ¥ & di9 $I1S HaY Tl &

¥ decreases as ¥ increases/ ¥ edl g O ¥ qdedl g

e Y increases as ¥ increases/ ¥ dgdl % Sld * dedl %
None of these/%ﬂ'ﬁﬁﬂﬁ'&‘ﬂ'ﬁ

Correct Answer :-* and ¥ have no relation/* 3R ¥ & §I9 ®I1s Jau 781 &

33)

Question Stimulus :-



If correlation coefficient be zero, then the lines of regression will be - / WWHW

Y 8, T9 THIHGVT ¥@TE BH1-
e Parallel to axes/3i&f & JATTR
e Perpendicular to axes / 3(&fi & ATEaq
¢ Inclined at any angle with axes /318l § foedt oft T wr Eg?ﬁ §€
e Coincident /'\‘i'l?I'l_cﬁ
Correct Answer :-Parallel to axes/3{& & TUTHTR

34)

Question Stimulus :-

xpEnp

| rdar=gl00+ 3+ 40t ys 4ot 3 )+ 200+ ya k7))
The formula *° is known
as- /g7
xpEnp
[ reoar=Zl00+ 7+ 40+ yst o+ 3 20+ ys+ ot )
) HEaTdl 8-

1rd

Simpson’s (5) vruIe/ﬁI'FEI'\‘H PI @ IGUL

& @
Simpson’s &/ rule/Ra_ &1 '/ fFaw
Trapezoidal Rule/ o |

None of these /ET-Iff T EF'\'QF qﬁ

1Fd ol

Correct Answer :-Simpson’s (5) rule/ = &1 (5) fraa



